MATH 332
Guiz Vil
December 4,

1.Complete

1989

the following
transformation T: V — W is
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The range of the linear
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. 2.Complete and prove: The nulispace (kernel) of the linear transformation
& T:V - W is a subspace of .
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3.For the linear transformation T{{xy.z}) = (2x.,y+2.2% - z)
a. Find T{{2,1.-3)) = (¢ -2 7))
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b, Write in matrix form T(x] =
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c. Find the kernel {null space} of T. Show work, or give reasons! {Thinkl)
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4.let T: RY — B® be given by T(X) = Ax for soms matrix A with rank 3.

S Als 6 x 4
a. The malrix A is .2 x ~ e
; ped

b, The range is a ... dimensional subspace of . .
i 4

¢. The nullspace (kernel] is & _\__dimensicnal subspace of .=

{1.3) and T{0,2)} = (2,-2). What i{s T{2,517

5.5uppose that T({2,3))
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